AETOSHSFE 1ALBHERBEFEOHE

1 —REHEETH (BN 1)
FH= /\‘/fr‘-vg e r‘*g =
s 3 % 4 2T = K il IE %8 5t
(A) (B) (A) + (B)
—fix it 80, 712, 478 447, 864 81, 160, 342
2 FUARE
é@@ﬁE%ﬁﬁ\ﬁﬁ®F?7V%é%ﬂ@t@@%é@%ﬁ%1K%é%\F%WB
PR R SR O ZARPL L 72 D7 ) 121 MEHS720 10 5, A0 5 4 L OV Fn 6 4=
Emﬁﬁéﬁﬁmﬁ#ﬁmﬁwﬁ%ﬁ@#ﬁﬁﬁ%®5 18%%T®E%@E¢5ﬁ
] A~NRE-AYZD S FTHEZZHT D (X — « M S EE S B4 ICH
THREAHELIZH D,
[FE A > < —FREATENER > (B4 )
(5 [E 4 IE4E) 44,864
X 4 BatPHEEE | M £ 7t [NTGE 3. VN 44,864
(A) (B) (A)+(B)
] B 32 4 13,514,999 403,000] 13,917,999
o IR 4 4,440,628 0 4,440,628
SyHLA K OVE R4 486,968 0 486,968
e [ R R Ok 1,336,317 0 1,336,317
; (T 5 EH) 47,361,874
5}
AN 655,994 0 655,994 e 9164 101
W | 2=t 5 5B 755,425
4 863,387 0 863,387 PR 4,148,551
o 5 A2 B 19,542,757
NG 4,813,827 0 4,813,82 A
AL 813,821 BT R O $0RH 206,167
I |- [l B 5 H 4 9,292
FAVUN 2,053,584 0 2,053,584 L i
s MAPEI A 155,708
ifi& 5,184,900 0 5,184,900 A 6,007
LB FE YN 1,375,783
—J E iy || ) )
i A TR 47,361,874 44,864 47,406,738 G 1,662,835
- EAPN 32,411
5t 80,712,478 447864 81,160,342 oy 302,300




H I

+H A=y
@ 145k EEXHE 0000 e 403,000 14
(1) #FAIARREA {4 403,000
@ 183k AL 0 mmtemmeommmoommmooooooooooooooooo 44,864 16
(1) MEGREE LA 4 44,864
HIER]
[ % ) v
® 3F} R4&EH
(1) =X — B B e S R A AT E 3 (Wl s et 3R 45) 18
"""""""""""""""" 447,864
« TRAF— BN SR SIS E A SR A ORI T AR
TR IL A — Bk i S v s BN S AR 4 419,000
Kol AT MRS LB TRkt 13,992
EARS AT R DR R 8,200
KGR AT FHER - 5 AN SR 2EH R Fr) 2,030
O (FFHE . ZGEES) 4,642
3 RERANE
[—fxEt] () (HAL:FH)
/d—f IE B [ - B %
& X A FHIE R W%
TR — BB AR
3 RA#H 1 fhtmnky Egiﬁ%&:%ﬁ%%(%ﬂﬁ%ﬂ% 209,432 549,626
xR 57)




